(BlsR2) kg

645823 R
;amgii% AT % TR EEYEE wanE” SEETNRATRICEDEE
[ RE fE L BR)IFE=5.1, B (ER) fiEi=173, BIlIE=(8, 30), BN T4 =%-HHERE]
FHIIFE=20.9, BEUIIFE=164, B I5RE=(8, 3.1), BRENRESE],
I (AER) jiigi=9.4 BRIFE=>12, 3.7), I GEREE- K],
B (R FRig=(8, 15.5), s BINKRE )| - 5P [ -],
FHIIIGE=(8, 205), BNIKZRENPREBIEE-2)(R)]
B RiE=(8, 19.9),
RBSFIIFRE=(8, 16.1)
EHm FEAIRE=4.5 FEREARE=(7, 3.9) -
HPATH FHEIIFE=7.8 FHRINFEE=(7, 7.1) EE IS
&l o R ET FH)IFRE=18.6, 2/[)I7k15=8.8 FHIIGRE=(5, 16.7), —
SR )IFRE=(5, 7.9)
Rimthis f&aT™ SRIGRE=157, \BF)IHE=158, ERNIFRE=(5, 135), EE IS
FE)RiE=8.8 J\IESFIiRiEg=(11, 13.7),
FE)IRE=(13, 7.9)
FETH B)Iliigi=14.9 SHIIRE=(7, 424), SHINIGEHE]
B )IRiE=(7, 13.4)
FISHET J\EF)fi5=15.8 EHNRE=(5, 47.7), SHINNCERE],
SR/IIGRE=(7, 20.6) SRR
BEuthig BEm EHIGE=44, ER]IFEH=134, = R)I5RE=(8, 77.7), EEIEEER G
RBSF)IIRE=18.4 NI FRE= (9, 28.1), INE=NITES: N
BE8IIRE=(8, 3.9), B BNKRES - BSFN [y 35
BRIIGRE=(8, 9.7)
it HER)IFRiE=13 =2k E=(10, 38.7) EEINTERER A
T B AN RE=3.7 — —
FHE iz LR INE IR =28.2 — —
FHE™ INE I RiE=26.7 INEIRE=(5, 18.6) -
O BRIJIIRE=11.2 B RIIIRE=(6, 10.6) -
BERT BRIIRiE=46 — —
K HHET /NE I RE=33.5 /N IR = (5, 30.2) -
=2 i RS B 2)78=53.6, BF)IFRi%=44.6 BRI = (5, 40.1) -
F R FwR™ &2 )IFE=19.7, /NRER)IFRE=214, = 2)I5E=(8, 18.9), —
) llig=21.2 INRER IR = (6, 19.2),
7l Rig=(6, 19)
EREHE BREH T Fi8i=34.3, fieh)IIFRE=17.7, TBIIFRIE=(5, 34), -
B HJIiiE=15.3 fiE )11 =(5, 15.9)
HEH B Fit=15.7 = —
L thig ZILH = FI5RE=44.8, 0%)IF1E=30.5, HHIFRE=(7, 39.3), —
FRE=13.8, EX/IiEH=104 fnsEFR=(9, 29.7)
SEEFHT FHREH=32.9, TR E)IFG=14.7 HHIIRE=(8, 29.6), -
&R EIE=(8, 13.2)
AKEET SEF)RE=14 EEFNIFIE=(7, 12.6) —
E L0 3 )I7EE=55.3, 5% )I1H=38.4, SHIRE=(5, 54.2), —
BINS)IFtE=5.6, 1BJIIFitH=54.6 HE)IGRE=(5, 34),
BMKIRE=(5, 5.1)
3R E33 HEFFE=24.3, #£3)115715=20.2, FE)IE=(10, 21.5), —
FE)FRE=15.2, WWR)IFRE=11 WAL= (9, 18.1),
LR NIFREE=(8, 9.9)
B S BT ENRE=127 &= (5, 10.4) —
=RAT &)IRiE=10.2 — —
BEEAF EEIRE=15.8 — -

T U(REMEEY REREER OEAAhEICKIEEEERLTVET.




